
Multiply and Divide by 10⁻³ (H)Find each product or quotient.
83 ÷ 10⁻³ = 57 ÷ 10⁻³ =
34 × 10⁻³ = 33 ÷ 10⁻³ =
7 ÷ 10⁻³ = 83 ÷ 10⁻³ =
24 ÷ 10⁻³ = 31 × 10⁻³ =
31 ÷ 10⁻³ = 50 ÷ 10⁻³ =
67 ÷ 10⁻³ = 93 × 10⁻³ =
84 ÷ 10⁻³ = 72 ÷ 10⁻³ =
98 × 10⁻³ = 11 × 10⁻³ =
59 × 10⁻³ = 16 ÷ 10⁻³ =
17 ÷ 10⁻³ = 41 × 10⁻³ =
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Multiply and Divide by 10⁻³ (H) AnswersFind each product or quotient.
83 ÷ 10⁻³ = 83,000 57 ÷ 10⁻³ = 57,000
34 × 10⁻³ = 0.034 33 ÷ 10⁻³ = 33,000
7 ÷ 10⁻³ = 7,000 83 ÷ 10⁻³ = 83,000
24 ÷ 10⁻³ = 24,000 31 × 10⁻³ = 0.031
31 ÷ 10⁻³ = 31,000 50 ÷ 10⁻³ = 50,000
67 ÷ 10⁻³ = 67,000 93 × 10⁻³ = 0.093
84 ÷ 10⁻³ = 84,000 72 ÷ 10⁻³ = 72,000
98 × 10⁻³ = 0.098 11 × 10⁻³ = 0.011
59 × 10⁻³ = 0.059 16 ÷ 10⁻³ = 16,000
17 ÷ 10⁻³ = 17,000 41 × 10⁻³ = 0.041

Math-Drills.Com


